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The studies of the safety-related pipe rupture of
the nuclear power plants (II)

T. H. Ko, J. J. Chen and K. Ting

ABSTRACT

Section 3.6 in Safety Report describes the design bases and protective

measures which ensure that the containment, essential systems, components and

equipment, and other essential structures are adequately protected from the

consequences associated with a postulated rupture of high-energy piping or crack of

moderate-energy piping both inside and outside the containment. The purpose of

this project will establish the comprehensive procedure to evaluate the pipe rupture

and the effects and review guide for the reference the regulatory staff to review

safety report.

However, the piping system is very huge and complicated. The project will

emphasize the piping benchmark problems of NUREG/CR-1677 for the pilot study.

This project will perform the following items in the two-year period.

1.

To establish the piping rupture criterion of the safety-related piping in Taiwan.

To establish the dynamic analysis of the benchmark problem of the piping

system for the demonstration problem.

Based on the established piping rupture criteria, to evaluate the existing piping

rupture in the safety report.

To establish the reactive force due to the piping rupture by the analytical
method and CFD methods.

The establishment of piping rupture criteria will base on NUREG-8000 Sections

3.6.1and 3.6.2 ASB 3-land MEB 3-l1cirteria. A CFD package, Star CD will be used

for the dynamic analysis of NUREG/CR-1677 piping problem. The reactive force

function will be provided as a check according to the requirement of ANS 58.2

Section 6.2 and Appendix A.
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(Stream Function & Vorticity);2 » L ## § > 4258 (T2 » 3 2 R4 7 > ¥ #-A
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Z3-Dec-05

YELOCITY MAGHNITUDE

PSS

TINME = 3.00002
LOCAL Mx= 8253,
LOCAL MMN= 4867,

B 3.3 t=0.009sec F¥ > ffdeiT ¥ EE P B
(90 B % ¢ 1% i)

aaon.
Tr4Y.
7133
BE40.
BOEY.
anad.
4380.
44:7.
38743
dJaz0.
2767
2213
1660.
1107,
2933
0.0000
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z3-Dec-05 . )
VELOCITY MAGHNITIIDE g nastt!
A e
TIME = 3.00002 LY
LOCAL kx= 8253, e et
LOCAL bAM= 4867, EITPNTL

8300, AR
—— 7747, et
— 7193 SALRERRINY

6640,

BOE7.

5533.

4380.

44z7.

3873.

3320.

2767.

2213.

1660.

1107,
— 5533
— 0.0000

B 3.4 t=0.013sec P¥ > f B d%iT ¢ Bz P Bl 2 Gl de 2 iR
(90 B % ¢ 1% i)
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Z3-Dec-05
VELOCITY MAGHITUDE
b S

TIKE = 3.00002

LOCAL Mx= B253.
LOCAL MM= 4857,

G300.
77y
193
BE40.
BOGY.
2933
4350.
4427,
3873
3320.
2767
2213
1660
1107.
2933
0.0000

] 3.5 t=0.03sec ¥ » P B3l B B P B 2 SRR 2 B
0 & FF FI % = 2LA)
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z3-Dec-05

YVELOCITY MAGHNITLUDE
fASS

TIME = 3.00002

LOCAL bx= 8253,
LOCAL kM= 4867,

aaon.
- 7r4r.
- 7134
BE40.
BOEY.
anad.
4380.
44:7.
38743
a8zl
- Z¥ET.
2213
— 1EBB0.
1107,
B L
— 0.000o

] 3.6 t=0.06sec ¥ » P B3l B B P Bl 2 SRR 2 B
(90 & 5 M¥ = 2LA)
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Z3-Dec-05

VELOCITY MAGHITUDE
b S

TIKE = 3.00002

LOCAL Mx= B253.
LOCAL MM= 4857,

G300.
—  Ti47.
7133

BE40.

BOGY.

2933

4350.

4427,

3873

3320.

2767

2213

1660

1107.
= 9933
— 0.0000

B 3.7 t=3.0sec P¥ > B d%iT B Bz P Bl 2 Rl de 2 iR
(90 B % ¢ 1% i)
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Velocity (m/s)

262
244
227
209
192
175
157
140
122
105
87
70
52
35
17

] 3.8 t=0.009sec F¥ » # P $HAEH (x=0 T 5 ) b inik 2 A (i F

t=0.009sec

00 2§13 MY @ eH)
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Velocity (m/s)

1349

1259

1169

1079

990

900

810

720

630

540

450

360 —_
570 t=0.013sec
180

90

3.9 t=0.013sec B¥ » 4§ P} HHEH (x=0 T & )} ik 2 A
(90 B 1% £t H)
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Velocity (m/s)

2693
2513
2334
2154
1975
1795
1616
1436
1257
1077
898

e t=0.03sec

539
359
180

] 3.10 t=0.03sec ¥ > F N $HALG (x=0 T & )} inif 2 A i

00 2§13 MY @ eH)
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Velocity (m/s)

5178

4833

4488

4143

3797

3452

3107

2762

2417

2071

1726

1381 _
1036 t=0.06sec
690

345

B 3.11 t=0.06sec P¥ » # ] L& (x=0 T & )} inid 2 4§ §
0 A FF F % = 2LA)
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Velocity (m/s)

7503
7002
6502
6002
5502
5002
4502
4001
3501
3001
2501
2001
1501
1000
500

B 3.12 =3.0sec P& » # P G (x=0 T 5 )b jnig 2 A
(00 & 5% % » 2L A)

t=3.00sec
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Pressure (Pa)

1987500

1975000

1962500

1950000

1937500

1925000

1912500

1900000

1887500

1875000

1862500

1850000 —_
1837500 t=0.009sec
1825000

1812500

Bl 3.13 t=0.009sec FF » ¢ P $HFER (x=0 T 6 )P R4 2 L5 FH
00 2§13 MY eH)
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J/
-

Pressure (Pa)

2067737

1996555

1925372

1854190

1783007

1711825

1640642

1569460

1498277

1427095

1355912

1284730 _
1213547 t=0.013sec
1142365

1071182

Bl 3.14 t=0.013sec FF » # P $fEd (x=0 T & )t B4 2 L 5§
00 2§13 MY eH)
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Pressure (Pa)

2484851

2314504

2144158

1973811

1803465

1633118

1462772

1292425

1122079

951732

781386

611039 —_
440693 t=0.03sec
270346

100000

B 3.15 t=0.03sec P » F P $HAEG (x=0 T & )} B4 2 A 5 B
(00 & 5% % » 2L A)
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Pressure (Pa)

4510470
4195436
3880403
3565369
3250336
2935302
2620269
2305235
1990201
1675168
1360134
1045101
730067

415034

100000

Bl 3.16 t=0.06sec F¥ > & P $FF ¢ (x=0 T & ) F B4 2 & & FH

t=0.06sec

0 & FF F % = 2LA)
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Pressure (Pa)

6903490

6417526

5931563

5445599

4959636

4473672

3987709

3501745

3015781

2529818

2043854

1557891 —_
1071927 t=3.00sec
585964

100000

[1 [T

B 3.17 =3.0sec P& » # P $Hfia (x=0 T 5 )+ B4 2 4 i §
(00 & 5% % » 2L A)
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B13.20 90 B %3 F% % A2 % (54 if 4 (FOR
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Bl 3.23 t=0.03sec F¥ > ¢ P $FH G (x=0 T & )} iniE = £ R
(90 7§ v #75)
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.06sec P e
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Velocity (m/s)

262
244
227
209
192
175
157
140
122
106
87
70
52
35
17

t=0.009sec

Bl 3.26 t=0.009sec = » ¥ P ¥HfEd (x=0 T & )} iig A
(90 & §* g fhro ¥7H)
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Velocity (m/s)

1006

939

872

805

737

670

603

536

469

402

335

268

201 =
e t=0.013sec
67

B 3.27 =0.013sec B¥ > F ] 4G (x=0 T 5 )+ jinig & ff B
(90 & §* ¢ pbre 72
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Velocity (m/s)

3937

3675

3412

3150

2887

2625

2362

2100

1837

1575

1312

1050

787 =
o t=0.03sec
262

Bl 3.28 t=0.03sec F¥ > F P FFH G (x=0 T & ) F jRiE A 1 R
(90 & §* g fhro ¥7H)

51



Velocity (m/s)

6456
6026
5595
5165
4735
4304
3874
3443
3013
2583
2152
1722

1291 t=0.06sec

861
430

M 3.29 t=0.06scc P¥ > F P $HLH (x=0 T 5 )} in

(90 1 3 oo 23)
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Velocity (m/s)

8760

8176

7592

7008

6424

5840

5256

4672

4088

3504

2920

2336

1752 =
e t=3.0sec
584

Bl 3.30 t=3.0sec F¥ > & P} - (x=0 L @ ) F jwig A 1 R
(90 & §* g fhro ¥7H)
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Pressure (Pa)

1987500
1975000
1962500
1950000
1937500
1925000
1912500
1900000
1887500
1875000
1862500
1850000
1837500 t=0.009sec
1825000
1812500

Bl 3.31t=0.009sec ¥ » ¥ P ¥Hfd (x=0 T G ) &4 & R
(90 A % # 0o 87 2)
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Pressure (Pa)

1881250
1754018
1626786
1499554
1372321
1245089
1117857
990625
863393
736161
608929
481696
354464 t=0.013sec
227232
100000

Bl 3.32t=0.013sec F¥ » ¥ P ¥ fd (x=0 T G ) &4 & R
(90 % 4 # 73)
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Pressure (Pa)

1975765
1841781
1707798
1573815
1439832
1305849
1171866
1037882
903899
769916
635933
501950
367966 t=0.03sec
233983
100000

Bl 3.33t=0.03sec P& > F N G (x=0 T & ) F B4 A5 B
(90 % 4§ e 472
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Pressure (Pa)

3685174
3429090
3173006
2916922
2660838
2404755
2148671
1892587
1636503
1380419
1124335
868252

612168

356084

100000

Bl 3.34 t=0.06sec F¥ > & P $H G (x=0 T 5 )t &4 LR

t=0.06sec

(90 & 5 5 pors €12
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Pressure (Pa)

6025052
5601834
5178616
4755398
4332180
3908962
3485744
3062526
2639308
2216090
1792872
1369654

946436 t=3.0sec

523218
100000

Bl 3.35t=3.0sec F¥ > & P} - (x=0 LT & ) &4 A F

(90 A& % F phro 874
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B 3.36 90 A % & b 877 15 H B £ 4 (Fx)F
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Z
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B 3.38 90 B 4 # #h ¥7 4 5 15 ¥ Bk 4 (F2)W
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z3—-Dec-05

YVELOQCITY MAGNITUDE

PSS

TIME = 3.00002
LOCAL MA= 8253,
LOCAL MMN= 4867,

] 3.41 t=0.009sec ¥ » P g i B Bz P Bl 2 SRR 2 R

5300,
7747,
71393,
BR40.
BOGY.
2933
4330,
4427,
3673
3320,
2FET.
2213,
16ED.
1107,
59335
0.000o

(120 & 5 M % 5 L 4)
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z3-Dec-05
VELOCITY RAGHITUDE
beAS

TIKE = 3.00002
LOCAL k== BZ53.
LOCAL kM= 48E7.

G300,
L T
A B-F

EE40.

BOGY.

2933

4350,

4427,

36873

3320,

2TET.

2213

16ED.

1107,
55833
= 0.000o

B 3.42 t=0.013sec ¥ » P ddeiT § Bz P Bl 2 SRR Es 2 B

(120 & 5 M % 5 L 4)
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~ﬁ:. RNV
23-Dec-05 R
YELOCITY MAGNITUDE RN
hAS R
TIME = 3.00002 LR \\
LOCAL Mx= 8253, R W\
LOCAL MN= 4867,

G300,
7747,
7193,
EE40.
BOGY.
2933
4380,
4427,
a673
3320,
2767,
2213
166D,
1107,
2933
0.0000

] 3.43 t=0.03sec P¥ > B d%iT F Bz P Bl 2 SRR de 2 R
(120 2 $* § F1% » L B)
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z3-Dec-05

VELOCITY MAGHNITLDE
bl S

TINE = 300002

LOCAL M= 8253
LOCAL KM= 4867,

G300,
L T
- A3a
BE40.
BOGY.
2933
4330,
4427,
3673
3320,
27ET.
2213,
1660,
1107,
2933
0.000o

] 3.44 t=0.06sec P¥ > B d%iT F Bz P Bl 2 SRR de 2 R
(120 & 5% ¢ Fl'% = 2L H)
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PSS

TIME = 3.00002
LOCAL k= 8253,
LOCAL kM= 4867,

z3-Dec-05
VELOCITY MAGHNITUDE

G300,
7747,
7193,
EE40.
BOGY.
2933
4380,
4427,
a673
3320,
2767,
2213
166D,
1107,
2933

0.0000

B 3.45 t=3.0sec ¥ > Pt 43T F A2 N B
(120 B % ¢ 1% » 2L )

SPIE Dk SIS r i



Velocity (m/s)

279
260
242
223
205
186
167
149
130
112
93
74
56
37
19

t=0.009sec

Bl 3.46 t=0.009sec = » ¥ P ¥t (x=0 T & )} iig 2 & 5 B

(120 B % ¢ 1% 2 2L )
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Velocity (m/s)

1258
1174
1090
1006
922
839
755
671
587
503
419
335 t=0.013sec
252
168
84

B 3.47 t=0.013sec F¥ » F N HHALG (x=0 T 6 )} iniE 2 A 15 Bl
(120 & 4 1% » A H)
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Velocity (m/s)

2367
2209
2051
1893
1736
1578
1420
1262
1104
947
789
631
473
316
158

] 3.48 t=0.03sec F¥ > F N $HALG (x=0 T & )} inif 2 A 6

(120 & 5% F1% = 2L A)

t=0.03sec

71
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Velocity (m/s)

4874
4549
4224
3899
3574
3249
2924
2599
2275
1950
1625
1300
975

650

325

B 3.49 t=0.06sec P¥ » & N $HALH (x=0 T & ) ¥ jnd 2 A

(120 & 5% F1% = 2L A)

t=0.06sec
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Velocity (m/s)

9543
8906
8270
7634
6998
6362
5726
5089
4453
3817
3181
2545 t=3.0sec
1909
1272
636

1 [T

@ 3.50 t=3.0sec P¥ > # P HA G (x=0 L & ) jiif 2 A 5§
(120 B %% % = 2 )
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Pressure (Pa)

1987500
1975000
1962500
1950000
1937500
1925000
1912500
1900000
1887500
1875000
1862500
1850000 t=0.009sec
1837500

1825000

1812500

] 3.51 t=0.009sec P » & M ¥4 (x=0 L 5 )t B4 2 4~ 05 B
(120 B 4§ F % = 2L H)
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Pressure (Pa)

2112541
1968788
1825035
1681282
1537529
1393776
1250023
1106270
962517
818765
675012
531259 t=0.013sec
387506
243753
100000

] 3.52t=0.013sec P > & M $H4L0 (x=0 L & )t B4 2 4~ 05 B
(120 R $*F W% » 2L H)
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Pressure (Pa)

2352419
2191532
2030645
1869758
1708871
1547983
1387096
1226209
1065322
904435
743548
582661 t=0.03sec
421774
260887
100000

] 3.53 t=0.03sec P¥ > F N HAEH (x=0 T 5 ) B4 24 G F
(120 & 5% F1% = 2L A)
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Pressure (Pa)

4181655
3890109
3598562
3307015
3015468
2723921
2432374
2140828
1849281
1557734
1266187
974640

683094

391547

100000

] 3.54 t=0.06sec P¥ > # PN HHALG (x=0 T 5 )t B4 2 A 5 B

(120 & 5% F1% = 2L A)

t=0.06sec

77



Pressure (Pa)

8959331
8326522
7693713
7060903
6428094
5795284
5162475
4529666
3896856
3264047
2631238
1998428
1365619
732809

100000

Bl 3.55t=3.0sec F¥ » & P} #Hd (x=0 T & ) F B4 2 &5 FH

(120 & 5% F1% = 2L A)

t=3.0sec
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Z
t=0.009sec
23-Dec-05
VELOCITY MAGHNITUDE
b5
TIME = 3.00000

LOCAL MA= 0.1397E+05
LOCAL MM= 0.0000

0.1400E+03
—  01307E+05
— 01213E+05
0120E+03
01027E+Da

M 3.59 t=0.009sec F¥ » 4 p HALH (x=0 T & )+ it > £ W]
(120 & % 5 phor 75
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z
t=0.013sec
z3-Dec-05
mESLOCITV bAAGNITUDE

TIME = 3.00000
LOCAL Mx=0.1397E+05
LOCAL kb= 0.0000

0.1400E+05
— 0.1307E+D5
— 0Z213E+03

0.1120E+05

0.10z7E+05

3333

g400.

T467.

Bo3a.

B 3.60 t=0.013sec ¥ » & ]} #4i5H (x=0 T & )} jhit & £ ]
(120 & % 5 phor 75
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Z
t=0.03sec
23-Dec-05
m%DCITH’ hAAGHITIDE

TIME = 3.00000
LOCAL Mx= 0.1387E+05
LOCAL M= 00000

0.1400E+035
—  0130VE+D5
— 01213E+03

01120E+035

01027E+035

9333

a400.

T467.

Ba3a.

-
o0
=
=

] 3.61 t=0.03sec F¥ » F P HALG (x=0 T 6 ) itk
(120 & § % doo 474

s
=
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R
W
\\\‘;\\\\\\ \
R

Z3-Dec-05

VELOCITY MAGNITLIDE
PlfS

TIME = 3.00000

LOCAL == 0,1397E+05
LOCAL kM= 0,0000

0.1400E+03
— 0.1307E+05
— 031213E+05
0.1120E+05
0.1027E+D3

Bl 3.62 t=0.06sec F¥ > & P $Hd (x=0 T & )+ iiiE = £ R
(120 A& %* ¢ e 975
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t=3.0sec

W
W W
NIRRT
AR
W
W

\
W

J-Dec-05

:%OCW hAAGHITUDE
ItE = 3.00000

OCAL M= 0,1387E+05
OCAL kM= 0.0000

0.1400E+035
— 01307E+D3
- 0a213E+03

01120E+035

01027E+035

9333

a400.

T467.

Ba3a.

-
o0
=
=

B 3.63 t=3.0sec F¥ » ¥ P 45 (x=0 T 5 )} g v £ B
(120 A & oo 875
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Velocity (m/s)

279
260
242
223
205
186
167
149
130
112
93
74
56
37
19

M 3.64 t=0.009sec F¥ » F P G (x=0 L 5 ) ki A
(120 & § % doo 474

t=0.009sec



Velocity (m/s)

1098
1024

951

878

805

732

659

585

512

439 t=0.013sec
366

293

220

146

73

Bl 3.65t=0.013sec F* » ¥ P ¥ fd (x=0 T & )} /g & 1 B
(120 A& %* ¢ e 975
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Velocity (m/s)

4494
4194
3894
3595
3295
2996
2696
2397
2097
1797
1498
1198
899

599

300

t=0.03sec

M 3.66 t=0.03sec P¥ - F P HALG (x=0 T & )} jiiE A fh

(120 A & oo 875

&9
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Velocity (m/s)

8042
7505
6969
6433
5897
5361
4825
4289
3753
3217
2681
2144
1608
1072
536

t=0.06sec

Bl 3.67 t=0.06sec P& » F ] $HF ¢ (x=0 T & )t i

(120 7 4§ #or €5 0)
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# A

]



Velocity (m/s)

12956
12092
11228
10365
9501
8637
7773
6910
6046
5182
4319
3455
2591
1727
864

t=3.0sec

) 3.68 t=3.0sec P¥ > F P $HALG (x=0 T & )} iniE A fh

(120 B §* ¢ poro $72)
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Pressure (Pa)

1987500
1975000
1962500
1950000
1937500
1925000
1912500
1900000
1887500
1875000 t=0.009sec
1862500
1850000
1837500
1825000
1812500

Bl 3.69 t=0.009sec F¥ > ¢ P $HFd (x=0 T G )t &4 LR
(120 A& 5* ¢ e 875
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Pressure (Pa)

1881250
1754018
1626786
1499554
1372321
1245089
1117857
990625
863393
736161 t=0.013sec
608929

481696

354464

227232

100000

B 3.70 t=0.013sec F¥ > # P 5 (x=0 T 5 )+ &4 A4 H
(120 & %* ¢ $hre $75)
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Pressure (Pa)

2086433
1944545
1802657
1660769
1518881
1376993
1235105
1093217
951328
809440
667552
525664
383776
241888
100000

Bl 3.71 t=0.03sec F¥ » F  HAEG (x=0 T & ) F B4 L5 F
(120 B '%i’é fhe ¥4
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Pressure (Pa)

4749060
4416984
4084909
3752833
3420757
3088681
2756606
2424530
2092454
1760379 t=0.06sec
1428303
1096227
764151
432076
100000

Bl 3.72 t=0.06sec F¥ > & P $H G (x=0 T 5 )t &4 LR
(120 2 4 o £7)
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Pressure (Pa)

11141956
10353245

9564534

8775823

7987112

7198400

6409689

5620978

4832267

4043556 t=3.0sec
3254845
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1677422

888711

100000

Bl 3.73 t=3.0sec F¥ » & p $HFEd (x=0 T ) B4 o F
(120 B 4§ porv #72)
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Z5-Dec-05
m%DCIW bAAGHITUDE
TINE = 0.600000E-01
LOCAL Mx= 4633,
LOCAL kM= 1733,

ab00.
- 4667,
4333
4000,
aB6T.
333
a000.
ZBEY.
2333
T Zoon.
1667,
1333
1000,
BER. 7
- 3334
— [.0o0oo

] 3.79 t=0.009sec ¥ » P d i B B2 P BlE 2 SRR s 2 B
(180 & % & % w2 4)
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25-Dec-05
VELOCITY MAGHNITUDE
WS ;
TIME = 0.600000E-01 B
LOCAL M= 4833,
LOCAL MN=- 1733,
5000, TR
455? R R I N N
4333 RO e
4000, AR
dJBET.

4333,

4000,

ZERET.

2333

2000,

1667,

1333,

1000.

BEE. 7

ddd.a

g.ooon

] 3.80 t=0.013sec ¥ > &b %iT B Bz P Bl 2 in MR 2 iR
(180 & %*F 1% » oL A)
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1
25-Dec-05 I ﬁuu

VELOCITY MAGNITUDE W
hA/S i
TIME = 0.500000E-071 }:

]

LOCAL M= 4633, -
LOCAL MM= 1733, 1L

2000,
4667
4333
4000,
J6ET.
3333
a000.
ZBET.
2333
2000,
1667,
1333
1000.
BEE.7
3333
0.0000

] 3.81 =0.03sec P¥ > f B d%iT F B P Bl 2 Gl de 2 iR
(180 & $* § F1% » oL A)
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#5-[Lec-05

mI%SLCJCIW bAAGHITUDE
TIME = 0.600000E-01
LOCAL k= 4533,
LOCAL kN= 1733,

2000,
= 4BGBT.
- 4334

4000,

J6ET.

3333

a000.

ZBET.

2333

2000,

1667,

1333

1000.

BEE.7
- 3333
— n.oooo

] 3.82 t=0.06sec P¥ » B d%iT Bz P Bl 2 SRR de 2 R
(180 R 5* ¥ M % » & A)

105



Velocity (m/s)
B 77 e

15 29 44 59 73 88 103 118 132 147 162 176 191 206 220

t=0.009sec |
Z

] 3.83 t=0.009sec P¥ > # ] AL (x=0 T & ) kit 2 4§ §
(180 & 4§ M% » 2 4)
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Velocity (m/s)
B [ [T

92 184 276 368 460 552 644 736 828 921 1013 1105 1197 1289 1381

\\

t=0.013sec |
Z

] 3.84 t=0.013sec ¥ + # ] HALH (x=0 T & )} ik 2 A
(180 & 4§ M% » 2 4)
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Velocity (m/s)
L DY D ——— |

163 325 488 650 813 975 1138 1300 1463 1625 1788 1950 2113 2275 2438

t=0.03sec |
V4

] 3.85 t=0.03sec P¥ » # PN $HEH (x=0 T 5 ) b inik 2 A (i F
(180 & 4§ M% » 2 4)

108



Velocity (m/s)
. 7 e

286 572 859 1145 1431 1717 2003 2289 2576 2862 3148 3434 3720 4006 4293

t=0.06sec |
Z

] 3.86 t=0.06sec P¥ > # P $HALG (x=0 T & )} inik 2 A 5 B
(180 & 4§ M% » 2 4)
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Pressure (Pa)

1812500 1825000 1837500 1850000 1862500 1875000 1887500 1900000 1912500 1925000 1937500 1950000 1962500 1975000 1987500

t=0.009sec |
Z

Bl 3.87t=0.009sec F¥ » ¥ P ¥ fd (x=0 T & )} B4 2 & 05 B
(180 A& 5* & 1% = 2LA)
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Pressure (Pa)

1072256 1144511 1216767 1289022 1361278 1433534 1505789 1578045 1650301 1722556 1794812 1867067 1939323 2011579 2083834

>
>

t=0.013sec

Bl 3.88t=0.013sec /¥ » ¢ P $Ho (x=0 T G )} B4 2 & 5§
(180 A& 5* & 1% = 2LA)
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Pressure (Pa)

1064653 1166166 1267678 1369191 1470703 1572216 1673728 1775240 1876753 1978265 2079778 2181290 2282803 2384315 2485828

t=0.03sec

Bl 3.89t=0.03sec F¥ > & P $FH G (x=0 T & ) F B4 2 & 5 FH
(180 A& 5* & 1% = 2LA)
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Pressure (Pa)

100000 381525 663050 944575 1226100 1507624 1789149 2070674 2352199 2633724 2915249 3196774 3478299 3759824 4041348

t=0.06sec |
Z

®] 3.90 t=0.06sec F¥ > & P $FH G (x=0 T & ) F B4 2 & 5 FH
(180 A& 5* & 1% = 2LA)
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116



Z
25-Dec-05
m%DCITH’ MAAGHITLUDE

TIME = 3.00000
LOCAL MaA= B571.
LOCAL MM= 0.0000

G600

Bl 3.94 t=0.009sec F¥ » F ] 4L H (x=0 T & )} jiid v £ B
(180 B ¥ hhrr ¥7 %))
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25-Dec-05

VELOQCITY MAGHNITUDE
Pl S

TIME = 3.00000

LOCAL M= BE71.
LOCAL MM= 0.0000

BEOO.

Bl 3.95t=0.013sec F* > ¢ P ¥t (x=0 T & )} /g = & R
(180 f& %* & e %74
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25-Dec-05

VELOQCITY MAGHNITUDE
Pl S

TIME = 3.00000

LOCAL M= BE71.
LOCAL MM= 0.0000

BEOO.

I
'I
l!l

At B B,
A 0 ]

on
rma
mn}
=

—
[}
Ma
=

Bl 3.96 t=0.03sec F& » B P} $HF G (x=0 T & )t i v £ F
(180 A& %* & e ¥75)
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Y

L.

)

25-Dec-05

VELQCITY MAGHITUDE
bl

TIMWE = 3.00000

LOCAL Mix= B571.
LOCAL kM= 0.0000

G600
—  B1E0.
- &rzn.

1320.

Bl 3.97 t=0.06sec B > # P L5 (x=0 L 6 )} iniE v £ B 0.0000
(180 A& %* & e ¥75)
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Velocity (m/s)

15 29 44 59 73 88 103 118 132 147 162 176 191 206 220

t=0.009sec ‘
V4

Bl 3.98 t=0.009sec ¥ » ¥ P ¥ fLd (x=0 T & )} /iid A B
(180 A& %* & e ¥75)
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Velocity (m/s)
B T [ [

58 116 174 232 290 348 406 464 522 580 639 697 755 813 871

t=0.013sec ‘
V4

Bl 3.99 t=0.013sec P+ » B P $HF G (x=0 T & )t JiiE A fF B
(90 2§ - $73)
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Velocity (m/s)
N 77 ] [MEe

211 423 634 846 1057 1269 1480 1692 1903 2115 2326 2538 2749 2961 3172

t=0.03sec ‘
V4

®] 3.100 t=0.03sec F* » ¥ P ¥t (x=0 T & )} /iig & 5 B
(180 A& %* & e ¥75)
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Velocity (m/s)
N 77 ] M.

321 642 964 1285 1606 1927 2248 2570 2891 3212 3533 3854 4175 4497 4818

t=0.06sec ‘
V4

Bl 3.101 t=0.06sec F* » ¥ P ¥ fLd (x=0 T & )} /iig & 1 B
(180 A& %* & e ¥75)
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Pressure (Pa)

1812500 1825000 1837500 1850000 1862500 1875000 1887500 1900000 1912500 1925000 1937500 1950000 1962500 1975000 1987500

t=0.009sec ‘
Z

B 3.102 t=0.009sec ¥ » F P $HfE 5 (x=0 T 5 )+ B4 2 i B
(180 A& & o #7%))
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Pressure (Pa)

100000 227232 354464 481696 608929 736161 863393 990625 1117857 1245089 1372321 1499554 1626786 1754018 1881250

t=0.013sec ‘
V4

] 3.103 =0.013sec p# > & P LG (x=0 T & ) F B4 4 FF B
(180 & %* ¢ e ¥7H)
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Pressure (Pa)

100000 227609 355219 482828 610438 738047 865656 993266 1120875 1248485 1376094 1503703 1631313 1758922 1886532

t=0.03sec ‘
V4

Bl 3.104 t=0.03sec F* » ¥ P ¥ fd (x=0 T & ) B4 & R
(180 A& %* & e ¥75)
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Pressure (Pa)

100000 381525 663050 944575 1226100 1507624 1789149 2070674 2352199 2633724 2915249 3196774 3478299 3759824 4041348

t=0.06sec |
Z

®] 3.105 t=0.06sec F¥ > # P e (x=0 T 5 ) F &4 A H
(180 & %* ¢ e ¥74)
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